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Teacher: Class:

Division 604

You have brains in your head. You have feet in your shoes.
You can steer yourself any direction you choose. - Dr.

Seuss, 'Oh, the Places You'll Go!

: I _é_—

Divide these numbers.

L 16+8= 26. 60+ 6= 51. 36+ 9 = 6. 20+ 10 =
2 8l1=+9= 2l 6+6= %2 63+ 7= 7+ =
3 9+9= 2. 54+6= 53. 54+9= 8. 110 + 10 =
4 88+8= 29100 + 10 = . 8+8= 9 90+9=
> 18+9= 3. 48 +6= % 10+10= 8. 40+10=
6 108 +9 = 3. 63+9= % 14 +7= 8. 36+6=
T 24+8= 2. 49 +7 = 57. 27+ 9= 8. 30+ 10 =
8 18+6= 3. 64+8= 8. 32+8= 8. 42 +6=
% 28+7-= 3. 60+ 10= % 70+10= 8. 80+10=
10120 +10 = % 72+8= 0. 21+7= 8. 56+7=
1. 80+8= % 30+6= . 90 +10 = 8. 77 +7=
12 99+ 9= 7. 50+ 10 = 62. 72 +9= 87. 40+ 8=
13- 9+9= %8 35+7= 3. 66 + 6 = 8. 42 +7=
4. 24+6= 3. 48 +8= 4. 12+ 6= 8. 36+6=
15 70+ 7= 4. 110 + 10 = 65. 56+ 8= 0. 72 +6 =
16 36+9= 4. 8+8= 6. 45 +9= . 63+9=
7. 63 +7= 2..84+7= 7. 60+ 6 = 92..20+10=
18108 +9= 43 40+10= 8. 72 +8= B 42+6=
1910+ 10= 4. 88+8= 9. 7+7= “. 7T+ 7=
20. 96+ 8= 4. 50+ 10 = 0. 90+ 9= % 6+6=
2l. 54 +9= 4. 49 +7 = o 27+9= %. 56+8=
22. 88+8= 4. 40+ 8 = 2. 32+8= 7. 120+ 10 =
23. 48 +6 = 8. 18+9= B 28+7= % 30+6=
4 7+7= 4. 90+9= 7430 +10= %. 100 + 10 =
2560+ 10 = %0 81+9= > 90+10= 10040 + 10 =
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Divide these numbers.

You have brains in your head. You have feet in your shoes.
You can steer yourself any direction you choose. - Dr.
Seuss, 'Oh, the Places You'll Go!"

1. 16+8=2 2%6. 60+6=10 5. 36+9=4 6. 20+10= 2
2..81+9=9 2. 6+6=1 2. 63+7=19 mo7+7=1

s 9+9=1 8. 54+-6=09 8. B4+-9=6 8. 110+ 10= 11
4 88+8=11 29 100+10=10 * 8+8=1 P 90+9=10
5 18+9=2 30. 48 +6=8 % 10+10=1 80. 40+10= 4
6. 108+9=12 3 63+9=7 6. 14+7=2 8l. 36 +6=06

. 24+8=3 82. 49 +7=17 57 27+9=3 82 30+10= 3
8 18+6=3 8. 64+8=8 8. 32+8=4 83. 42 +6=7

9 28+7=4 4. 60+10=6 9. 70+10=7 84. 80+10= 8
10 120+10=12 3 72+8=9 60. 21 +7=3 8. 56+7=8
1. 80+8=10 6. 30+6=5 6. 90+10=9 86. 77 +7=11
12..99+9=11 7. 50+10=5 62. 72+9=18 87 40+8=5
B 9+9=1 8. 35+7=5 6. 66 +6=11 88. 42+7=6
4. 24+-6=4 39. 48+8=06 6. 12+6=2 89. 36+6=26
L. 70+7=10 40. 110+10= 11 6 56+8=7 0. 72+6=12
6. 36 +9=14 4. 8+8=1 66. 45+9=15 9. 63+9=7
7. 63+7=9 2. 84+7=12 67 60 +6 =10 92. 20+10= 2
18 108+9=12 % 40+10= 14 68. 72+8=09 B 42+6=7
9 10+10=1 4. 88+8=11 6. 7+7=1 “. T7+7=11
0. 96 +8= 12 % 50+10=5 0 90+9=10 % 6+6=1

2. 54+9=6 4. 49+7=7 . 27+9=3 % 56+8=7
2. 88+8=11 4. 40+8=5 2..32+8=4 97. 120 +10= 12
23. 48 +6=8 8. 18+9=2 B 28+7=4 ¥ 30+-6=5
4. 7+7=1 4. 90+9=10 4. 30+10= 3 9. 100+ 10= 10
2. 60+10=6 0. 81+9=09 s 90+10=9 100. 40 +-10= 4
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